

## Limit cycles in Liénard systems with saturation

Thomas Lathuilière, Giorgio Valmorbida, Elena Panteley

### ▶ To cite this version:

Thomas Lathuilière, Giorgio Valmorbida, Elena Panteley. Limit cycles in Liénard systems with saturation. 5th IFAC Conference on Analysis and Control of Chaotic Systems CHAOS 2018: Eindhoven, The Netherlands, 30 October – 1 November 2018 Edited by Erjen Lefeber, Oct 2018, Eindhoven, Netherlands. pp.127-131, 10.1016/j.ifacol.2018.12.105. hal-01974946

## HAL Id: hal-01974946 https://hal.science/hal-01974946

Submitted on 9 Jan 2019

**HAL** is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers. L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

# $\begin{array}{c} \text{Limit cycles in Liénard systems with} \\ \text{saturation}^{\,\star} \end{array}$

Thomas Lathuilière<sup>\*</sup> Giorgio Valmorbida<sup>\*</sup> Elena Panteley<sup>\*,\*\*</sup>

\* Laboratoire des Signaux et Systèmes, CentraleSupélec, CNRS, Univ. Paris-Sud, Université Paris-Saclay, 3 Rue Joliot Curie, Gif-sur-Yvette 91192, France. {thomas.lathuiliere, giorgio.valmorbida, elena.panteley}@l2s.centralesupelec.fr \*\* ITMO University, Kronverkskiy av. 49, St Petersburg, 197101, Russia.

#### Abstract

In this paper we present an extension of existing results on limit cycles for Liénard systems and formulate sufficient conditions for existence and uniqueness of limit cycles for Liénard systems with non-differentiable vector fields. As an application we consider the example of a linear systems with the saturation nonlinearity.

Keywords: Liénard systems, limit cycles, saturation.

#### 1. INTRODUCTION

In this paper, we consider the Liénard system

$$\begin{cases} \dot{x} = y - F(x) \\ \dot{y} = -g(x) \end{cases}$$
(1)

 $x \in \mathbb{R}, y \in \mathbb{R}, F, g : \mathbb{R} \to \mathbb{R}$ . For  $F \in C^1$  define  $f(x) \coloneqq \frac{dF(x)}{dx}$ . We are interested in obtaining sufficient conditions on functions F and g for the existence and uniqueness of a limit cycle. In particular, we aim to relax standard regularity assumptions on F and g for this class of systems. Indeed, in (Perko, 2013, Chapter 3.8, Theorem 1) F ( $F \in C^1$ ) and g are required to be continuously differentiable, in Villari (1987), function F is continuously differentiable and g is locally Lipschitz continuous.

Clearly, in case F is not differentiable, the above properties are not verified for f. As an example, take  $F(x) = a_1(x) + b_1 sat(x)$  and  $g = a_2(x) + b_2 sat(x)$  where sat(x) = sign(x)min(|x|, 1), which corresponds to a linear saturating system. This class of system appears in control systems, where the control action is limited and feedback laws have are constrained. The saturation function is then used to model these constrained systems. There is therefore a practical interest on studying such a class of systems and hence it is of interest to extend the results of Liénard systems to non-differentiable functions F and g.

This short note presents a generalization of Liénards theorem for non-differentiable functions F and g in (1) in Section 2 and illustrates its application to the class of systems with input saturation in Section 3.

#### 2. MAIN RESULT

The theorem below is the main result of this paper, relaxing assumptions on the regularity of the functions defining the Liénard system

Theorem 2.1. Under the assumptions

- (1)  $F, g \in \mathcal{C}^0(\mathbb{R})$  are odd and globally Lipschitz,
- (2) xg(x) > 0, for  $x \neq 0$ ,
- (3) xF(x) < 0, for  $|x| < \epsilon$ ,
- (4) F has a single positive zero at x = a,
- (5) F increases monotonically to infinity for  $x \ge a$  as  $x \to +\infty$ ,

the Liénard system (1) has a unique stable limit cycle.

Before presenting the proof of this theorem, we start with a few observations. Under Assumption 1, Cauchy problem for system (1) have unique solutions. Under Assumption 2, the origin is the only critical point. Due to the central symmetry of the vector field (Assumption 1), we restrict our study to the plan  $x \ge 0$ . By continuity of F, under Assumptions 3, 4 and 5 we have

$$F(x) < 0 \quad 0 < x < a,$$
  
 $F(x) = 0 \quad x \in \{0, a\},$   
 $F(x) > 0 \quad a < x.$ 

It follows that

$$\exists c > 0, F(x) > -c.$$

We denote

$$\begin{cases} P(x,y) = y - F(x) \\ Q(x,y) = -g(x). \end{cases}$$

*Proof.* Let  $P_0 = (x_0, y_0) \in \{(x, y) \in \mathbb{R}^2 | x \ge 0\}$  and  $\Gamma$  be the trajectory of the Liénard system (1) starting at  $P_0$ , that is  $(x_0, y_0) = (x(t_0), y(t_0))$ . We first prove that any trajectory that starts from  $P_0$  intersects the curve y = F(x) Consider two cases regarding the sign of  $F(x_0) - y_0$ 

<sup>\*</sup> Giorgio Valmorbida is also with Inria. This work was supported by *iCODE* - Institut pour le Controle et la décision de l'Idex Paris-Saclay, by L2S - Projet Jeunes Chercheurs and by the Government of Russian Federation (grant 074-U01).

#### **<u>Case 1</u>** $F(x_0) < y_0$

We construct the proof by contradiction. Assume that if  $\forall (x(t), y(t)) \in \Gamma$  then  $(x(t), y(t)) \cap \{(x, y) \in \mathbb{R}^2 | F(x) = y\} = \emptyset$  that is  $\Gamma$  never intersects the curve y = F(x). Thus,  $\forall t > t_0$  we have

$$dx = (y - F(x))dt > 0$$

since the trajectory does not interest the curve y = F(x)x remains positive and from Assumption 2

$$dy = -g(x)dt < 0$$

Thus, x(t) is increasing, y(t) is decreasing and we have

$$\forall t > t_0, \begin{cases} x(t) > 0, \\ y(t) < y_0 \end{cases}$$

For both x(t) and y(t), we consider the following cases

$$\lim_{t \to +\infty} x(t) = \begin{cases} +\infty \\ x^* & \lim_{t \to +\infty} y(t) = \begin{cases} -\infty \\ y^*. \end{cases}$$

If  $x(t) \to +\infty$ , as  $y(t) < y_0$  and  $F(+\infty) = +\infty$ , y - F(x) cannot remain positive. Thus,

$$\lim_{t \to +\infty} x(t) = x^*.$$
<sup>(2)</sup>

If  $y(t) \to -\infty$ , as F(x) > -c, y - F(x) can not remain positive. Thus,

$$\lim_{t \to +\infty} y(t) = y^*.$$

Let's prove that  $(x^*, y^*)$  is a critical point. We suppose that  $P(x^*, y^*) \neq 0$  (the proof is the same for the case  $Q(x^*, y^*) \neq 0$ ). Thus,

$$\exists T > 0, \forall t \ge T, \quad |P(x(t), y(t))| \ge \left|\frac{P(x^*, y^*)}{2}\right|$$

and we have  $\forall\;t\geq T$ 

$$|x(t) - x(T)| = \left| \int_T^t P(x(s), y(s)) ds \right|$$

As P(x(t), y(t)) preserves its sign for t > T

$$\left| \int_{T}^{t} P(x(s), y(s)) ds \right| = \int_{T}^{t} |P(x(s), y(s))| ds$$
$$\geq \left| \frac{P(x^*, y^*)}{2} \right| (t - T).$$

It follows that  $\lim_{t\to+\infty} x(t) = +\infty$ , therefore contradicting (2). Thus  $P(x^*, y^*) = 0$  ( $Q(x^*, y^*) = 0$ ) is a critical point. Since by assumption (0,0) is the only critical point of system (1), and  $x^* \neq 0$ , we arrive at a contradiction. Thus, any trajectory passing by a point above y = F(x)intersect this curve.

<u>**Case 2**</u>  $F(x_0) \ge y_0$ 

As in the previous case we proceed by contradiction. Let us show that  $\Gamma$  intersects  $\{(x, y) \in \mathbb{R}^2 | x = 0, y < 0\}$ . Suppose  $dy = -g(x)dt < 0 \ \forall t > t_0$ .

Due to the nature of the flow on the curve y = F(x) for x > 0,  $\Gamma$  remains below the curve for all  $t > t_0$  and we have

$$\forall t > t_0, \ dx = (y - F(x))dt \le 0.$$

Thus, both x(t) and y(t) are decreasing. If we suppose that

$$\lim_{t \to +\infty} x(t) = x_{min} > 0,$$

since the origin is the only critical point, with the same reasoning used above, we have

 $\lim_{t \to +\infty} y(t) = -\infty,$ 

$$dx = y(t) - F(x(t)) < y(t) + c \to -\infty.$$

which is a contradiction, thus we have  $\Gamma \cap \{(x, y) \in \mathbb{R}^2 | x = 0, y < 0\} \neq \emptyset$ . Assumption 3 implies that in the neighborhood of the origin, F(x) < 0. As y(t) is decreasing and  $F(x) \ge y$ ,  $\Gamma$  must intersect the y - axis for y < 0. Thus, any trajectory passing through a point below y = F(x) intersects  $\{(x, y) \in \mathbb{R}^2 | x = 0, y < 0\}$ .

It follows that any curve  $\Gamma$  starting from  $P_0 = (0, y_0)$  $y_0 > 0$  intersects the curve y = F(x) for x > 0 followed by an intersection with the y - axis for y < 0. Next part of the proof makes use of the Figure 1 and especially, of points  $P_j = (x_j, y_j), j = 0, \ldots, 4$ . Note that points  $P_1$  and  $P_3$  exist only if  $x_2 > a$ . By central symmetry,



Figure 1. Typical behaviour of function F(x) and a trajectory  $\Gamma$  of the Liénard system (1).

 $\Gamma$  is a closed trajectory of (1) if and only if  $y_4 = -y_0$ ; and for  $u(x,y) := \frac{y^2}{2} + \int_0^x g(s)ds$ , this is equivalent to  $u(0,y_0) = u(0,y_4)$ .

Let A be the arc  $\widehat{P}_0 \widehat{P}_4$ . We proved that A intersects  $\{(x, y)|F(x) = y\}$  in  $P_2$ . Thus, for any arc A, there exists only one  $\alpha = x_2$ , the abscissa of  $P_2$ . By uniqueness of solution of (1), for any  $\alpha = x_2$  the arc A is unique, thus, the line integral

$$\Phi(\alpha) = \int_A du = u(0, y_4) - u(0, y_0)$$

is a bijection and  $\Gamma$  is a closed trajectory of (1) if and only if  $\Phi(\alpha) = 0$ . To prove that the Liénard system (1) has a single limit cycle, let us show that the function  $\Phi(\alpha)$  has exactly one zero.

Define, along the trajectory  $\Gamma$ 

$$du = g(x)dx + ydy.$$

Since for system (1)

$$\begin{cases} dx = (y - F(x))dt \\ dy = -g(x)dt \end{cases}$$

we obtain the following expression for du

$$du = \frac{-F(x)g(x)}{y - F(x)}dx = F(x)dy.$$
(3)

From this expression it follows that if  $0 < \alpha \leq a$ , we have F(x) < 0 and dy < 0, thus, du > 0 and  $\Phi(\alpha) > 0$ , and  $\Gamma$  must intersect  $\{(x, y) | y = F(x)\}$  at a point  $P_2 = (x_2, y_2)$  with  $0 < x_2 \leq a$ . Hence, if  $\Gamma$  is a closed trajectory,  $x_2 = \alpha > a$ .

To prove that there exists only one limit cycle, let show that for  $\alpha > a$ , the line integral  $\Phi(\alpha)$  decreases monotonically from  $\Phi(a) > 0$  to  $-\infty$ . We recall that for  $\alpha > a$ ,  $P_1$  and  $P_3$  exist. We split the arc A into three parts  $A_1 = \widehat{P_0P_1}, A_2 = \widehat{P_1P_3}$  and  $A_3 = \widehat{P_3P_4}$ . It follows that  $\Phi(\alpha) = \Phi_1(\alpha) + \Phi_2(\alpha) + \Phi_3(\alpha)$ 

where

$$\Phi_1(\alpha) = \int_{A_1 = \widehat{P_0 P_1}} du,$$
  
$$\Phi_2(\alpha) = \int_{A_2 = \widehat{P_1 P_3}} du,$$
  
$$\Phi_3(\alpha) = \int_{A_3 = \widehat{P_3 P_4}} du.$$

With (3), we have

$$du = F(x)dy$$

Along the arc  $A_1$  and  $A_3$ , F(x) < 0 and dy < 0. Therefore,  $\Phi_1(\alpha) > 0$  and  $\Phi_3(\alpha) > 0$ . Similarly, along the arc  $A_2$ , F(x) > 0, dy < 0 and  $\Phi_2(\alpha) < 0$ .

The arc  $A_1$  always connects a point in  $\{(x, y) \in \mathbb{R} | x = 0\}$  to a point of the line  $\{(x, y) \in \mathbb{R} | x = a\}$ . Thus, since dx > 0 along arc  $A_1$ , we can define the function

$$\gamma_{1,\alpha} \colon [0,a] \to \mathbb{R}$$
$$x \mapsto y$$

such that

$$\Phi_1(\alpha) = \int_0^a \frac{-F(x)g(x)}{\gamma_{1,\alpha}(x) - F(x)} dx.$$

Since trajectories of system (1) can not intersect we have that, for  $\alpha_1 < \alpha_2$ , the corresponding arc  $A_{\alpha_1}$  stays in the interior of  $A_{\alpha_2}$  defined on  $\mathbb{R}_{\geq 0}$ . Thus,

$$\forall x \in [0,a], \ \gamma_{1,\alpha_1}(x) < \gamma_{1,\alpha_2}(x).$$

From the above we can deduce that

$$\begin{aligned} 0 < \gamma_{1,\alpha_1}(x) - F(x) < \gamma_{1,\alpha_2}(x) - F(x) \\ \frac{1}{\gamma_{1,\alpha_1}(x) - F(x)} > \frac{1}{\gamma_{1,\alpha_2}(x) - F(x)} \\ \frac{-F(x)g(x)}{\gamma_{1,\alpha_1}(x) - F(x)} > \frac{-F(x)g(x)}{\gamma_{1,\alpha_2}(x) - F(x)} \\ \int_0^a \frac{-F(x)g(x)}{\gamma_{1,\alpha_1}(x) - F(x)} dx > \int_0^a \frac{-F(x)g(x)}{\gamma_{1,\alpha_2}(x) - F(x)} dx \\ \Phi_1(\alpha_1) > \Phi_1(\alpha_2) \end{aligned}$$

thus we obtain that  $\Phi_1(\alpha)$  is strictly decreasing.

With the same reasoning, the arc  $A_3$  is joining a point of the line x = a to a point of the line x = 0 and dx < 0. Thus, we can define the function

$$\gamma_{3,\alpha} \colon [0,a] \to \mathbb{R}$$
$$x \mapsto y$$

such that

$$\Phi_3(\alpha) = \int_a^0 \frac{-F(x)g(x)}{\gamma_{3,\alpha}(x) - F(x)} dx$$

For  $\alpha_1 < \alpha_2$  we have

$$\forall x \in [0, a], \ \gamma_{3,\alpha_1}(x) > \gamma_{3,\alpha_2}(x).$$

It follows that

$$0 > \gamma_{1,\alpha_1}(x) - F(x) > \gamma_{1,\alpha_2}(x) - F(x)$$

$$\frac{1}{\gamma_{1,\alpha_1}(x) - F(x)} < \frac{1}{\gamma_{1,\alpha_2}(x) - F(x)}$$

$$\frac{-F(x)g(x)}{\gamma_{1,\alpha_1}(x) - F(x)} < \frac{-F(x)g(x)}{\gamma_{1,\alpha_2}(x) - F(x)}$$

$$\int_a^0 \frac{-F(x)g(x)}{\gamma_{1,\alpha_1}(x) - F(x)} dx > \int_a^0 \frac{-F(x)g(x)}{\gamma_{1,\alpha_2}(x) - F(x)} dx$$

$$\Phi_1(\alpha_1) > \Phi_1(\alpha_2)$$

and  $\Phi_3(\alpha)$  is strictly decreasing.

For the arc  $A_2$ , we have

$$\Phi_2(\alpha) = \int_{A_2 = \widehat{P_1 P_3}} du$$
$$= \int_{y_{1,\alpha}}^{y_{3,\alpha}} F(x) dy$$

As dy < 0, we can define the function

$$\beta_{2,\alpha} \colon [y_{1,\alpha}, y_{3,\alpha}] \to \mathbb{R}$$
$$y \mapsto x$$

such that

$$\Phi_2(\alpha) = \int_{y_{1,\alpha}}^{y_{3,\alpha}} F(\beta_{2,\alpha}(y)) dy.$$

Since system trajectories from different initial conditions do not cross, for  $\alpha_1 < \alpha_2$ , the corresponding arc  $A_{\alpha_1}$  stays in the interior of  $A_{\alpha_2}$  defined on  $\mathbb{R}_{>0}$ . Thus,

$$\forall y \in [y_{1,\alpha_1}, y_{3,\alpha_1}], \ \beta_{2,\alpha_1}(y) < \beta_{2,\alpha_2}(y).$$

Thus, from Assumption 5 we have

$$0 < F(\beta_{2,\alpha_{1}}(y)) < F(\beta_{2,\alpha_{2}}(y))$$

$$\int_{y_{1,\alpha_{1}}}^{y_{3,\alpha_{1}}} F(\beta_{2,\alpha_{1}}(y))dy > \int_{y_{1,\alpha_{1}}}^{y_{3,\alpha_{1}}} F(\beta_{2,\alpha_{2}}(y))dy$$

$$\Phi_{2}(\alpha_{1}) > \int_{y_{1,\alpha_{1}}}^{y_{3,\alpha_{1}}} F(\beta_{2,\alpha_{2}}(y))dy.$$

Since F(x) > 0,  $y_{1,\alpha_1} < y_{1,\alpha_2}$  and  $y_{3,\alpha_1} > y_{3,\alpha_2}$ , we have  $\int_{y_{1,\alpha_2}}^{y_{1,\alpha_1}} F(\beta_{2,\alpha_2}(y)) dy < 0, \quad \int_{y_{3,\alpha_1}}^{y_{3,\alpha_2}} F(\beta_{2,\alpha_2}(y)) dy < 0,$ 

and

$$\Phi_2(\alpha_1) > \int_{y_{1,\alpha_2}}^{y_{3,\alpha_2}} F(\beta_{2,\alpha_2}(y)) dy = \Phi_2(\alpha_2)$$

We conclude that  $\Phi_2(\alpha)$  is strictly decreasing.

As a result we obtain that, for  $\alpha > a$ 

$$\Phi(\alpha) = \Phi_1(\alpha) + \Phi_2(\alpha) + \Phi_3(\alpha)$$

is strictly decreasing too. Since  $\Phi(\alpha) > 0$  for  $\alpha \leq a$ , it suffices to show that  $\Phi_2(\alpha) \to -\infty$  as  $\alpha \to \infty$  to prove



Figure 2. The reduced arc  $A_2$ 

that  $\Phi(\alpha)$  has only one zero  $\alpha_0$ .

Let 
$$\epsilon > 0, \ \epsilon < \alpha$$
 and define  $y_{1,\epsilon}, \ y_{3,\epsilon}$  such that

$$P_{1,\epsilon} \coloneqq (a + \epsilon, y_{1,\epsilon}) \in A_2$$
$$P_{3,\epsilon} \coloneqq (a + \epsilon, y_{3,\epsilon}) \in A_2,$$

as it is depicted in the Figure 2.

Next we use this partitioning of the arc to obtain  $\Phi(\alpha)$ and write

$$\Phi_{2}(\alpha) = \int_{\widehat{P_{1}P_{3}}} F(x)dy$$
$$= \int_{\widehat{P_{1}P_{1,\epsilon}}} F(x)dy + \int_{\widehat{P_{1,\epsilon}P_{3,\epsilon}}} F(x)dy + \int_{\widehat{P_{3,\epsilon}P_{3}}} F(x)dy$$

On the other hand, since dy < 0 and  $F(x) \ge 0$  we have that the following three inequalities hold

$$\int_{\widehat{P_1P_{1,\epsilon}}} F(x)dy < 0, \qquad \int_{\widehat{P_{3,\epsilon}P_3}} F(x)dy < 0$$

and

$$\Phi_2(\alpha) < \int_{\widehat{P_{1,\epsilon}P_{3,\epsilon}}} F(x) dy.$$

Finally, using Assumption 5, we have that F(x) is increasing and therefore

$$\int_{\widehat{P_{1,\epsilon}P_{3,\epsilon}}} F(x)dy < F(a+\epsilon) \int_{\widehat{P_{1,\epsilon}P_{3,\epsilon}}} dy$$
$$< F(a+\epsilon) \int_{y_{1,\epsilon}}^{y_{3,\epsilon}} dy$$
$$< F(a+\epsilon)(y_{3,\epsilon}-y_{1,\epsilon})$$
$$< F(a+\epsilon)(y_{3,\epsilon}-y_{1,\epsilon}).$$

Since  $y_{3,\epsilon} < 0 < y_2 < y_{1,\epsilon}$  for  $\epsilon$  small enough, we have

$$\Phi_2(\alpha) < F(a+\epsilon)(y_{3,\epsilon} - y_{1,\epsilon}) < -F(a+\epsilon)y_{2,\epsilon}.$$

According to Assumption 5,  $y_2 = F(x_2 = \alpha) \to \infty$  when  $\alpha \to \infty$  and  $\Phi_2(\alpha) \to -\infty$  when  $\alpha \to \infty$ .

With the above we complete the proof of existence and uniqueness of the limit cycle. To prove the stability of the limit cycle, let us define the sequence of intersection points between  $\Gamma$  and the positive y - axis that we denote  $(y_0)_n$ . If  $\alpha < \alpha_0$ , we have  $\Phi(\alpha) > 0$  and thus  $y_0 < -y_4$ . By central symmetry, we conclude that  $(y_0)_n$  is an increasing sequence. As trajectories do not cross,  $(y_0)_n$  is bounded and thus, converge to the limit cycle. Since the limit cycle is the only possible limit for  $\Gamma$ , it follows that the limit cycle is stable.

#### 3. APPLICATION TO SINGLE INPUT PLANAR SATURATING SYSTEMS

We consider the class of single input planar systems with saturation

$$\dot{\xi} = A\xi + B\operatorname{sat}(K\xi) \tag{4}$$

where  $\xi \in \mathbb{R}^2$ ,  $A \in \mathbb{R}^{2 \times 2}$ ,  $B \in \mathbb{R}^{2 \times 1}$  and  $K \in \mathbb{R}^{1 \times 2}$ . We assume that the pair (A, K) in system (4) is observable. This implies that the system observability matrix, defined as,

$$\mathcal{O} \coloneqq \begin{bmatrix} K \\ KA \end{bmatrix}$$

satisfies the rank condition  $rank(\mathcal{O}) = 2$ . We introduce next the following notations  $\tilde{q} \in \mathbb{R}^{2 \times 1}$  the second column of  $\mathcal{O}^{-1}$  and the matrix  $T := [A\tilde{q} \ \tilde{q}]$ . Thus, using the change of coordinates  $\xi = T\bar{\xi}$  the system can be written as

$$\bar{\xi} = \bar{A}\bar{\xi} + \bar{B}\operatorname{sat}(\bar{K}\bar{\xi})$$

with  $a_1, a_1$ 

$$\bar{A} = T^{-1}AT = \begin{bmatrix} a_1 & 1\\ a_0 & 0 \end{bmatrix}$$
$$\bar{B} = T^{-1}B = \begin{bmatrix} b_1\\ b_0 \end{bmatrix}$$
$$\bar{K} = KT = \begin{bmatrix} 1 & 0 \end{bmatrix}$$
$$_0, b_1, b_0 \in \mathbb{R}. \text{ With } \bar{\xi} = \begin{bmatrix} x\\ y \end{bmatrix}, \text{ we have }$$
$$\int \dot{x} = a_1x + y + b_1 \operatorname{sat}(x)$$

$$\begin{cases} x = a_1 x + y + b_1 \operatorname{sat}(x) \\ \dot{y} = a_0 x + b_0 \operatorname{sat}(x) \end{cases}$$

which is a Liénard system (1) with

$$F(x) = -a_1 x - b_1 \operatorname{sat}(x) g(x) = -a_0 x - b_0 \operatorname{sat}(x).$$
(5)

Next we show that all the assumptions of Theorem 2.1 are satisfied for this system. We use the fact that the function sat is continuous on  $\mathbb{R}$ , differentiable on  $\mathbb{R} \setminus (-1, 1)$  and

$$\operatorname{sat}(x) = \int_0^x s(\theta) d\theta, \quad s(\theta) = \begin{cases} 1 & \text{if } |\theta| \le 1\\ 0 & \text{if } |\theta| > 1 \end{cases}$$

#### 3.1 Functions F and g are odd and globally Lipschitz

Property 3.1. Let  $x_a$  and  $x_b$  be two vectors of  $\mathbb{R}^2$ . Thus

 $\|\operatorname{sat}(Kx_a) - \operatorname{sat}(Kx_b)\| \le \|K\| \|x_a - x_b\|$ and sat is a 1-Lipschitz function.

*Proof.* With the notation introduced above, we have

$$\|\operatorname{sat}(Kx_{a}) - \operatorname{sat}(Kx_{b})\| = \|\int_{0}^{Kx_{a}} s(\theta)d\theta - \int_{0}^{Kx_{b}} s(\theta)d\theta\|$$
$$= \|\int_{Kx_{b}}^{Kx_{a}} s(\theta)d\theta\|$$
$$\leq \int_{\min(Kx_{a},Kx_{b})}^{\max(Kx_{a},Kx_{b})} |s(\theta)|d\theta$$
$$\leq \int_{\min(Kx_{a},Kx_{b})}^{\max(Kx_{a},Kx_{b})} 1d\theta$$
$$\leq \|Kx_{a} - Kx_{b}\|$$
$$\leq \|K\|\|x_{a} - x_{b}\|.$$

Property 3.2.  $Ax + B \operatorname{sat}(Kx)$  is globally Lipschitz.

Proof. Let 
$$x_a$$
 and  $x_b$  be two vectors of  $\mathbb{R}^2$ . Thus  

$$\|\mathcal{F}(x_a) - \mathcal{F}(x_b)\| = \|A(x_a - x_b) + B(\operatorname{sat}(Kx_a) - \operatorname{sat}(Kx_b))\|$$

$$\leq \|A(x_a - x_b)\| + \|B(\operatorname{sat}(Kx_a) - \operatorname{sat}(Kx_b))\|$$

$$\leq \|A\| \|x_a - x_b\| + \|B\| \|K\| \|x_a - x_b\|$$

$$\leq (\|A\| + \|B\| \|K\|) \|x_a - x_b\|.$$

■ Thus, function F and g defined in (5) are odd and globally Lipschitz.

3.2 The function  $g(\cdot)$  satisfies the inequality xg(x) > 0, for  $x \neq 0$ 

Let show the following property based on the definition of g in (5).

Property 3.3.  $xg(x) = -a_0x^2 - b_0x \operatorname{sat}(x) > 0$  for  $x \neq 0$  if and only if  $a_0 < 0$  and  $a_0 + b_0 < 0$ 

*Proof.* We suppose that  $xg(x) = -a_0x^2 - b_0x \operatorname{sat}(x) > 0$ , for  $x \neq 0$ . Thus,  $a_0 < 0$  and  $a_0 + b_0 < 0$ .

We suppose that  $a_0 < 0$  and  $a_0 + b_0 < 0$ . Let us prove the result for x > 0, the parity of  $x \to xg(x)$  will give us the result for  $x \neq 0$ . By definition

$$xg(x) = \begin{cases} -(a_0 + b_0)x^2 & \text{if } 0 < x < 1\\ -a_0x^2 - b_0x & \text{if } 1 < x. \end{cases}$$

Since  $a_0 + b_0 < 0$ , xg(x) > 0 for 0 < x < 1. And as  $a_0 < 0$ , if 1 < x we have

$$a_0 > a_0 x$$
  

$$0 > a_0 + b_0 > a_0 x + b_0$$
  

$$0 < -a_0 x^2 - b_0 x$$

which complete the proof.

3.3 The function  $F(\cdot)$  satisfies the inequality xF(x) < 0, for  $|x| < \epsilon$ 

Let show the following property based on the definition of F in (5).

Property 3.4.  $xF(x) = -a_1x^2 - b_1x \operatorname{sat}(x) < 0$  for  $|x| < \epsilon$  if and only if  $a_1 + b_1 > 0$ .

*Proof.* We suppose that  $xF(x) = -a_1x^2 - b_1x \operatorname{sat}(x) < 0$  for  $|x| < \epsilon$ . Since in the neighborhood of the origin  $xF(x) = -(a_1 + b_1)x^2$ , the inequality  $a_1 + b_1 > 0$  must hold.

We suppose that  $a_1 + b_1 > 0$ . For |x| < 1,  $xF(x) = -(a_1 + b_1)x^2 < 0$  which complete the proof.

#### 3.4 F has a single positive zero denoted a

Let show the following property based on the definition of F in (5).

Property 3.5. F has a single positive zero if and only if  $a_1$  and  $a_1 + b_1$  have different signs.

*Proof.* We suppose that F has a single positive zero at x = a > 0. Thus,  $F(a) = -a_1a - b_1 \operatorname{sat}(a) = 0$ . From the

definition of F, we must have a > 1. Hence,  $-a_1a - b_1 = 0$ and  $a = -\frac{b_1}{a_1} > 1$ . If  $a_1$  and  $a_1 + b_1$  have the same sign,  $\frac{a_1+b_1}{a_1} = 1 - a > 0$  which leads to a contradiction. Thus,  $a_1$  and  $a_1 + b_1$  have different sign.

We suppose that  $a_1$  and  $a_1 + b_1$  have different sign. Thus,  $-\frac{b_1}{a_1} > 1$  and  $F(-\frac{b_1}{a_1}) = a_1 \frac{b_1}{a_1} - b_1 = 0$  which complete the proof.  $\blacksquare$  Let us note that to satisfy both assumptions 3.3 and 3.4, we must have  $a_1 + b_1 > 0$  and  $a_1 < 0$ .

3.5 F increases monotonically to infinity for  $x \ge a$  as  $x \to +\infty$ 

Based on the definition of F in (5), this property is immediately verified.

#### 3.6 Corollary

We can now formulate the following corollary which is a direct application of Theorem 2.1.

Corollary 3.1. Any system

$$\dot{x} = \begin{bmatrix} a_1 & 1 \\ a_0 & 0 \end{bmatrix} x + \begin{bmatrix} b_1 \\ b_0 \end{bmatrix} \operatorname{sat}(\begin{bmatrix} 1 & 0 \end{bmatrix} x).$$

which satisfy

$$\begin{cases} a_1 < 0 \\ a_0 < 0 \end{cases} \qquad \qquad \begin{cases} a_1 + b_1 > 0 \\ a_0 + b_0 < 0 \end{cases}$$

has exactly one limit cycle and it is stable.

#### 4. CONCLUSION

We have presented an extension of the Liénard Theorem, establishing conditions for the existence and stability of a limit cycle for planar systems with non-differentiable right hand sides. We have then applied the result to show the existence of limit cycles to planar systems with a saturation nonlinearity.

We currently investigate conditions on the vector field for estimating the amplitude and frequency of the limit cycle of for planar systems with saturations. We are also interested to obtain conditions for the design of feedback laws guaranteeing the existence of limit cycles in closed loop.

Also, we are currently studying the extension of the results presented in this paper for the case where the right hand side is not defined by odd functions, namely for the case where F and g are not odd functions.

#### REFERENCES

- Perko, L., 2013. Differential Equations and Dynamical Systems. Texts in Applied Mathematics. Springer New York.
- Villari, G., 1987. On the qualitative behaviour of solutions of Liénard equation. Journal of Differential Equations 67 (2), 269 – 277.